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21. SOl >, =, <2 A PO,

87.5+7 (O 160.2 + 12

87.5+7=125, 160.2 + 12 = 13.35
87.5+7<160.2 =12




22. Sohd 19U @ 2 7t A AHg

kw A=A ToFA L.

> E. kw

> He: 2.12%kw

2o 63.6kw s

Uet. sh2e] 2

63.6 + 30 = 2.12(kw)




23. o[ ool g2 2 AR HE oA
(1) 74m? + 5a + 460 cm? + 0.036 ha = Dm2
(2) 850000 cm? + 2.4ha + 520m2 = Ja

> =
> g
> HED 934.046
> HE D 246.05

(1) 74m? + 500 m? + 0.046 m? + 360 m? = 934.046 m?2
(2) 0.85a +240a + 5.2a = 246.05( a)




@® 540g°] 100008+ 5.4 t Pt
@)350kg+4.7 1= 820kg

® 570000g + 0.043t = 613 kg

@ 5kg°] 100081 5t JYct.

® 420kg 2] 100 HiE 42t YUYt

@350kg + 4.7t = 350kg + 4700 kg = 5050 kg




25.

(A HFA 2 FA)= (Fat)x (Y )
= 2x1200 = 2400(kg)

(28hdolA] B2 wF 2] o] FA)

= (AA {2 FA4)+ (shd 9] &)

= 240046 = 400(kg)




